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a) The equation of the parabola is: ﬂ — :|2 ( X +3} -2

b) Determine the equation

of the line: j = Xﬁ\S

c. Use your gragh to solve
x+5=1(x+3)2-2.
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e. Use your graph to solve the 1nequahty@ < @
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f. Use your graph to solve %(,\' +3)2-2=0.
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Make a list of ALL possible outcomes

s it posgible to make
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There is no obvious choice for the dependent
and independent variable. The decigion i

arbitrary.
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The market has changed, and Otto can now make $2 for each
truck but only $1 for each car. What is his best choice for the
number of cars and the number of trucks to make in this
situation? How can you be sure? Explain.
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3\ Are there any points in the solution region that represent
choices that seem more likely to give Otto the maximum
profit? Where are they? Why do you think they show the

best choices?
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Q5 Write an equation to repregent Otto's total profit (P) if he makes 4! on
each car and $2 on each truck. What if Otto ended up with a profit of only
$8? Show how to use the graph of the profit equation when P = 8 to
figure out how many carg and trucks he made.

P: X +25_,
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(—F) Which points do you need to test in the profit equation to get the maximum profit?
l¢ it necessary to try all of the points? Why or why not?

(9)

What if Otto got greedy and wanted to make a profit of $14.2 How could you
use a profit line to show Otto that this would be impossible baged on his currei|
pricing?
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